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DD-2021 (SE) 

B.Com. (Part II) Examination, 2020 

(Foundation Course) 

Paper First  

Hindi  Language 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 26 

uksV% lHkh iz”u vfuok;Z gSA 

 
iz”u 1- ¼d-½ ^^ eksrh dh cwanksa ds ml izseck.k us eq>s cs/k MkykA eSa “kqn~/k cukA^^ bl dFku dh O;k[;k  

dhft,A               8 vad 

 

vFkok 

 

 ^ pksjh vkSj izk;f”pr^ fuca/k dk lkjka”k fyf[k,A 

 

¼[k½ ifji= fdls dgrs gS \ ifji= dk ,d izk:Ik izLrqr dhft,A       7 vad 
 

      vFkok 

 

     ehfM;k dh Hkk’kk  dk Lo:i Li’V dhft,A 

 

iz”u 2- ¼d½^^ ;qodksa ds vf/kdkj dks Lohdkj djuk pkfg,^^ 

      fouksck th ds bl dFku dk vk”k; Li’V dhft,A         8 vad 

 

vFkok 

 

   ^^iqu% uwru lekt dh jpuk dk vkSj izpfyr lkekftd i)fr dks rksM+us dks ;qod esa    

    lkeF;ZA ^^bl dFku dh foospuk dhft,A  

¼[k½ okf.kT; dh Hkk’kk dk mnkgj.k izLrqr dhft,A         7 vad 

 

vFkok 

 

     e”khuh Hkk’kk dks mnkgj.k lfgr le>kb,A 

 

iz”u 3- ¼d½ ekr`Hkwfe fuca/k dk lkjka”k fyf[k,A           8 vad 

 

vFkok 

 

     ekr`Hkwfe ds egRo dks O;Dr dhft,A 

  

 

 



¼[k½ laKk dh ifjHkk’kk fy[krs gq, mlds izdkjksa dks le>kb,A        7 vad 

 

vFkok 

 

     fØ;k fo”ks’k.k dh ifjHkk’kk vkSj Hksn mnkgj.k lfgr le>kb,A 

 

iz”u 4- ¼d½ MkW- [kwcpUn c?ksy dh thouh la{ksi esa fyf[k,A         8 vad 

vFkok 

 

     fofHkUu {ks=ksa esa MkW- [kwcpUn c?ksy  dk ;ksxnku fyf[k,A 

 ¼[k½ laf/k dh ifjHkk’kk nsrs gq, izdkjksa dks le>kb,A          7 vad 

 

vFkok 

 

     lekl foxzg dj lekl dk uke fyf[k,A ¼dksbZ lkr½ 

 ¼1½ LoxZxr ¼2½ uojkf= ¼3½ nkyjksVh ¼4½ ihrkEcj ¼5½ ns”kHkfDr ¼6½ izfrfnu  

¼7½ jked̀’.k ¼8½ “kksdkdqy 

 

iz”u 5- ¼d½ lEHkk’k.k dq”kyrk ij ia- ek/ko jko lizs ds fopkj fyf[k,A        8 vad 

 

vFkok 

 

     lEHkk’k.k djus le; fdu&fdu nqxZq.kksa ls cpuk pkfg, \ 

 ¼[k½ vaxzsth “kCnksa dk fgUnh :I fyf[k,&% ¼dksbZ lkr½         7 vad 

 (i) Accountant (ii) currency officer (iii) convenor (iv) Ambassador  

(v) chairman (vi) cashier (vii) Governor (viii) Writ 

 
vFkok 

 

laf{kfIr dks le>krs gq, mldk egRo fyf[k, vkSj fuEufyf[kr laf{kfIr;ksa ds ewy :i 

fyf[k,A 

¼i½ lh-,e- (ii) jklqdk (iii) ek-f”k-ia- (iv) ts-ih- (v) l-gh- okRL;k;u 
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Roll No. ...................................  

BD–2022 

B. Com. (Part II) EXAMINATION, 2018 

(Foundation Course) 

Paper Second 

ENGLISH LANGUAGE 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 26 

Note : Attempt all questions. 

1. Answer any five of the following : 15 

(a) Which goddess is dragged by Science from her  

car ? 

(b) What do you mean by phrase : “All Men are 

Scientists” ? 

(c) Who is the earliest writer of books on Surgery 

in ancient India ? 

(d) Which Indian Scientist is known as the father of 

Plastic Surgery ? 

(e) Why does the agony of plant leave us 

indifferent ? 
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A-8 

(f) Why was Ramanujan granted half exemption in 

fees at school ? 

(g) What is information technology ? 

(h) Why is the method of Plastic Surgery known as 

“The Hindu Method” ? 

(i) What does the author refer to as “gunk” ? 

(j) How was uranium designated ? 

2.  Read the following passage and answer the 

questions given below : 5 

Any biologist must at least find the communist 

slogan interesting, because biology is becoming 

more and more a matter of ascertaining needs. Some 

workers are concerned with nutritional needs. They 

feed rats on simplified diets and find that their 

growth slows down or they develop some symptoms 

such as some skins and sterility. Then something is 

added to the diet, and the rats resume normal growth 

or the symptoms clean up. The rat‟s needs are a  

fairly good guide to human ones, though not a 

complete one. For example, men but not rats, get 

scurvy if their diet lacks ascorbic acid (Vitamin C). 

Rats lose weight if deprived of a protein constituent 

called histidine and men do not. Nevertheless, our 
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A-8 P. T. O. 

present very successful rationing system is largely 

based on experiment on rats. 

Questions : 

(a) What is ascertaining needs ? 

(b) What happens when rats are fed on simplified 

diet ? 

(c) What happen when rat‟s diet lacks ascorbic  

acid ? 

(d) When do rats loose weight ? 

(e) Give a suitable title to the passage. 

3. Write a report on  any one of the following topics in 

about 200 words : 10 

(a) A report on the frequent power-cut in your 

town. 

(b) Write a report on bad road conditions in your 

city. 

(c) Write a report on Medical Camp held by NSS 

unit of your college.  

(d) Use and misuse of internet. 

4. Expand any one of the following topics : 10 

(a) Rome was not built in a day. 

(b) As you saw, so shall you reap. 

(c) All that glitters is not gold. 

(d) Health is wealth. 
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A-8 

5. (A) Do as directed any twenty : 20 

Insert article where necessary : 

(i) She is ........... little Hitler. 

(ii) ......... teacher is one who teaches. 

(iii) Can you speak ........ French. 

(iv) Bombay is ........ Indian city. 

Use the correct form of „have‟ or „do‟ : 

(v) I .......... three brothers. 

(vi) How many books .............. you purchased 

today ? 

(vii)  ......... as you wish. 

Fill in the blanks with possessives or self  

forms :  

(viii) I have to blame ......... for this error. 

(ix)  Karan has made ......... very unpopular. 

Complete the following sentences using the 

comparative degree : 

(x) You are not very tall. Your brother  

is ........... . 

(xi) Bhopal is not very beautiful. Raipur  

is ........... . 

Use the Present Continuous Form of the verb : 

(xii) Prachi (live) in this apartment since 1999, 

(xiii)Dithi (watch) TV all evening. 
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Fill in the blank with „will‟ or „shall‟ : 

(xiv)  We .......... all die on day. 

(xv)  ............ you be thirty on your next 

birthday ? 

Fill in the blanks using suitable modals : 

(xvi)  There is no other offer. I ......... accept 

this job. (Compulsion) 

(xvii) They ........... gladly accept the offer. 

(Willingness) 

(xviii) They kept us waiting.  

(Change the Voice) 

(xix)  Prachi gave him a book.  

(Change the Voice) 

(xx)  Please, leave the key.......... the lock. 

(Use the suitable preposition) 

(xxi)  A friend .......... mine has recently 

written a book.  

(Use suitable preposition) 

(xxii) Have you lived ....... Bilaspur long. 

(Use suitable preposition) 

Fill in the blanks with the proper form of gerund 

or infinitive : 

(xxiii) You should try ......... her. (understand) 

(xxiv) I hope .......... this time. (pass) 

(xxv) He went ......... his father. (see) 
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(B) Match the following with their meanings : 5 

      A                   B 

(i) Swallow (a) speak with sudden 

pauses repeating the 

same sound 

(ii) Endow (b) cause food, drink etc. to 

pass down the throat 

(iii) Spasms (c) give 

(iv) Stammer (d) making a strong, shaby 

movement 

(v) Shudder (e) muscular contraction 

(C) Give antonyms of the following words (any 

five) :  5 

(i) Small 

(ii) Stop  

(iii) Well 

(iv) Visible 

(v) Sleep 

(vi) Against  

(vii) Exhale 
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(D) Give synonyms of any five of the words given  

below :  5 

(i) Happy 

(ii) Brave 

(iii) Sorrow 

(iv) Perfect 

(v) Certain 

(vi) Conquer 

(vii) Wealthy 
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Roll No. ……………………….. 

DD-2027 (SE) 
B. Com. (Part-II) EXAMINATION, 2020 

¼Group-III : Compulsory Paper½ 
Paper First 

BUSINESS STATISTICS 
Time : Three Hours 

Maximum Marks : 75 
 

uksV% lHkh ik¡p iz”uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA lHkh    
     iz”uksa ds vad leku gSaA 
        Attempt all the Five questions. One question from each Unit is compulsory. All     
        questions carry equal marks. 
 

bdkbZ &I 
Unit - I 

 

1. Lkkaf[;dh dh ifjHkk’kk nhft;sA Lkkaf[;dh dh lhek;sa crkb;s RkFkk orZeku le; esa 
lkaf[;dh ds egRo dk le>kb;sA 
Give a proper definition of statistics. Explain limitations of statistics and 
discuss the importance of statistics in the present time. 

 

vFkok 

Or 

fuEufyf[kr lkj.kh ls e/;] ef/;dk rFkk cgqyd Kkr dhft;sA 

    ¼vkdkj½             ¼vko`fÙk½ 

    5 ls de     7 

   10 ls de     20 

    5&15     38 

   15 vkSj vf/kd    55 

   20&25     20 

   25 vkSj vf/kd    5 

   30 vkSj vf/kd    1 
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 Calculate mean, median and mode from following data. 

       (Size)             (Frequency) 

 Less than 5     7 

    Less than 10    20 

     5-15     38 

    15 and above     55 

    20-25     20 

    25 and above     5   

    30 and above    1 

 
bdkbZ &II 
Unit – II 

 

2. ,d QqVcky l= esa nks Vheksa A ,oa B }kjk fofHkUu eSpks esa fd;s x;s xksyks dh la[;k 

fuEu izdkj FkhA crkb;s dkSu lh Vhe vius izn”kZu esa vf/kd laxr gS: 
 

,d QqVcky eSp esa fd;s                    [ksys x;s QqVcky  
  x;s xksyks dh la[;k                       eSpks dh la[;k                                         
                                        Vhe&v      Vhe&c 

          0            27  17 
                    1       9   9 
                    2       8   6 
                    3       5   5 
                    4       4   3 
   

The following table gives goal scored by two teams A and B in a football 

season. Find the team which is more consistent in its performance. 

 

No. of goals scored                                          No. of football  

                in a match                                                  matches played 

                    0            27  17 
                    1       9   9 
                    2       8   6 
                    3       5   5 
                    4       4   3 
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   vFkok 

Or 

 fuEufyf[kr vkadM+ks dh lgk;rk ls dkyZ fi;lZu dk fo’kerk xq.kkad Kkr dhft;sA 
                      ¼vk;q o’kksZ esa½                   ¼O;fDr;ksa dh la[;k½ 
   10-20                     18 

20-30                     20 
30-40                     30 
40-50                     22 
50-60                     10 

 Calculate Karl Pearson’s skewness from the following data. 
      (Age in years)                   (No. of persons) 
   10-20                     18 

20-30                     20 
30-40                     30 
40-50                     22 
50-60                      10 

bdkbZ &III 
Unit - III 

 

3. fuEukafdr leadks ls vk;qq rFkk fuj{kjrk ds e/; ;fn dksbZ laca/k gks rks Kkr dhft;sA 
 ¼vk;q leqg½     ¼dqy tula[;k½  ¼fuj{kjrk tula[;k½ 
         ¼Ykk[kksa esa½               ¼Ykk[kksa esa½ 
             10-20    120    100 
    20-30    100     75 
    30-40      80     60 
    40-50      50     30 
            50-60      25     20 
    60-70      15     10 
    70-80       5                5 
Find out if there is any relation between age and illiteracy from the ahead data. 
 (Age Group)   (Total Population)      (Illiteracy Population) 
         (in lacks)                           (in lacks) 
    10-20    120    100 
    20-30    100     75 
    30-40      80     60 
    40-50      50     30 
            50-60      25     20 
    60-70      15     10 
    70-80        5       5 
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vFkok 

Or 

izrhixeu lehdj.k dks Li’V dhft;sA izrhixeu xq.kkad dh fo”ks’krkvksa dh O;k[;k  
dhft;sA 
Explain Regression Education and explain the properties of Regression   
Coefficients. 

bdkbZ &IV 
Unit - IV 

 

4. thou fuokZg lwpdkad D;k gS? ;g fdl mís”; dh iwfrZ djrk gS? Lke>kb;sA  

What is cost of living index number? What purpose does it serve? Explain.  
 

vFkok 

Or 

 fuEufyf[kr vkadM+ks ls fQ”kj dk vkn”kZ lwpdkad Kkr dhft;s rFkk fn[kkb;s fd ;g   

      le; mRØe.k ijh{k.k o rRo mRØe.k ijh{k.k dks iwjk djrk gS ;k ugh: 
 
            ¼oLrq½                 ¼vk/kkj o’kZ½       ¼pkyw o’kZ½ 
        ¼ewY;½    ¼ek=k½   ¼ewY;½    ¼ek=k½ 
       [kk|       16       50      24       45 
            diM+k       18       30      24       25 
            fdjk;k                20        5      15        8 
            bZ/ku                  10        6      12        6 
  fofo/k       10       10      14       12  
 

Construct fisher ideal index number from the ahead data and show whether it 
satisfies the time reversal test and factor reversal test: 

         (Commodity)                      (Base year)                 (Current year) 

                                               (Price)       (Quantity)   (Price)       (Quantity) 

             Food          16                 50            24    45 

             Cloth                       18                 30            24                 25 

             Rent                             20                   5            15                   8 

             Fuel                             10                   6             12                  6 

             Misc                            10                  10            18                 12 
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bdkbZ &V 
Unit - V 

 

5. O;kolkf;d iwokZuweku dk D;k vFkZ gS? O;kolkf;d  iwokZuqeku dh ekU;rkvks] 
mi;ksfxrk ,oa lhekvksa dk o.kZu dhft;sA 
What is business forecasting? Discuss the assumptions, utility and limitations 
of business forecasting. 

vFkok 

Or 

  ¼v½ vPNh rjg ls QsaVs x;s 52 iÙkks esa ls fcuk okil Mkys ,d&,d djds nks     
      bDds fudkys tkus dh izkFkfedrk Kkr dhft;sA 
           Find out the probability of drawing of two aces after their without    
           replacement from well shuffled 52 cards. 
 
  ¼c½ ,d ikals dh ,d ckj Qsdus ij 3 ;k 5 ikals dh laHkkouk Kkr dhft;sA 

Fine the probability of getting 3 or 5 in one throw of a dice. 
 



         Roll No. …………….. 

DD-2024 (SE) 

B.Com. (Part II) Examination, 2020 

(Group- I : Compulsory) 

Paper Second 

COMPANY LAW 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV% lHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA lHkh  

     iz”uksa ds vad leku gSA 

         Attempt all the five questions. One question from each unit is compulsory.  

         All questions carry equal marks. 

 

bdkbZ& I (Unit-I) 

 
1- ,d izkbosV dEiuh dks ifCyd dEiuh esa rFkk ,d ifCyd dEiuh dks izkbosV dEiuh esa 

ifjofrZr gksus dh fof/k dk o.kZu dhft,A 
State the procedure converting a private company in to a public company and a public 

company in to a private company 

 

vFkok@Or 

 
izorZd ds vf/kdkj ,oa nkf;Ro dk o.kZu dhft,A 

Describe the rights and duties of promoter. 

 

bdkbZ& II (Unit-II) 

 
2- izfooj.k ls vki D;k le>rs gS\ bldh fo’k; lkexzh dk o.kZu dhft,A 

what do you understand by prospectus? Explain its contents. 

 

 vFkok@Or 

 
dEiuh dh va”kiwth ls D;k rkRi;Z gS\ ,d dEiuh }kjk va”kiwth es ifjorZu djus dh fof/k 

dk o.kZu dhft,A 

what is mean by share capital ? Describe procedure for changing the share capital by 

me campany? 

 

bdkbZ& III (Unit-III) 
 

3- izHkkj ls vki D;k le>rs gS \ izHkkj vkSj cU/kd es vUrj crkb, \ 

What do you understand by charge ? State Differnce between charge and mortgage. 

 



vFkok@Or 
izca/k lapkyd dh ifjHkk’kk nhft,A mlah fu;qfDr v;ksX;rk,¡] dk;Zdky ,ao ikfjJfed ls 

lacf/kr izko/kkuksa dk o.kZu dhft,A 

Define managing director state provision about his appointment disqualifications 

tenure and Remuneration . 

bdkbZ& IV (Unit-IV) 
 

4- dEiuh dh okf’kZd lkekU; cSBd esa fd;s tkus okys lkekU; o fo”ks’k  O;ogkjks dk o.kZu    

dhft,A 

Explain ordinary and special business transacted in annual general meeting of a 

company. 

 
vFkok@Or 

 
izfriq:’k ¼izkWDlh½ dh ifjHkk’kk nhft,A izfriq:’k ds iz;ksx lac/kh fu;e D;k gS \ izfriq:’k 

izi=  dk ,d uewuk nhft,A 

Define proxy what are the rules regarding use of proxy give specimen of proxy form. 

 

bdkbZ& V (Unit-V) 
 

5- neu ,oa dqizcU/k ds fuokj.k ds fy, vkosnu djus dk vf/kdkj fdls izkIr gS \ bl laca/k 

esa vf/kdj.k ¼fVªC;wuy½ esa vkosnu izLrqr djus ls lacf/kr fu;eksa dk o.kZu dhft,A 

Who has right to present application to seek remedy in case of oppression and 

mismanagement ? Describe rules regarding presentation of application to tribunal. 

 

vFkok@Or 

 
fdu vk/kkjks ij dEiuh dk fVªC;quy }kjk vfuok;Z lekiu dk vkns”k fn;k tk ldrk gS \ 

On what grounds can tribunal order compulsory winding up ? 

  

           P.T.O. 
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DD-2029 (SE) 

B.Com (Part-II), EXAMINATION, 2020 
 COMPUTER APPLICATIONS 

Paper First 

(Internet Application and e-Commerce) 

Time : Three Hours 

Maximum Marks : 50 

 

 

Note: Attempt any two parts from each question. All question carry equal marks. 
 

Unit –I 

1. (a) Explain the overview of WWW. 

(b) What are IP Addresses? Explain in detail. 

(c) Write the application in Internet Environment. 

Unit- II 

2. (a) Explain any two empty tag and non-empty tag with example. 

(b) Write the use of LINK and SCRIPT in HTML document. 

(c) Explain about HTML editors. 

Unit- III 

3. (a) How to create Internal and external linking between web pages? 

      (b) Write HTML code for the following form: 

   Name : 

   Class : 

 

    OK        Cancel 

     (c) Write the use of following HTML tags - 

  i. ALLIGN 

  ii. IMG 

  iii. BASEFONT 

  iv. ADDRESS 

  v. ALT 
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Unit –IV 

4. (a) What are the impacts of e-Commerce in business sector? Explain with example.  

             (b) Describe business strategy in terms of e-commerce. 

           (c) Explain the following - 

   i. e-markets 

   ii. Case study 

Unit- V 

5. (a) Explain B2B and B2C e-commerce. 

(b) What are the elements of e-commerce? Explain it. 

(c) Explain the following – 

 i. online share dealing 

 ii. Internet Banking 

 

 

--------------------- 



Page 1 of 1 
 

Roll No. ……………………….. 

 

DD-2030 (SE) 

B.Com (Part-II), EXAMINATION, 2020 
 COMPUTER APPLICATIONS 

Paper Second 

(Relational Database Management System) 

Time : Three Hours 

Maximum Marks : 50 

 

Note: Attempt any two parts from each question. All question carry equal marks. 
 

Unit –I 

1. (a) Explain any two commands of DDL, DML and DCA. 

  Or 

(b) Write short notes on following- 

 i. ER- Diagram 

 ii. Data Dictionary 

Unit- II 

2. (a) What is functional Dependency? Explain types of functional dependency. 

 Or 

(b) Explain Security and Integrity security specification. 

Unit- III 

3. (a) Explain Normalization and write they condition for 3NFand 4NF. 

Or 

       (b) What is Relational Algebra? Explain by giving example. 

Unit –IV 

4. (a) Describe SQL and SQL*PLUS. 

Or  

           (b) What is View? Write role of view in data drop and retrieve.  

Unit- V 

5. (a) What are the security tools used for database security. 

Or 

                  (b) Explain Exception handling in database usi9ng example. 



         Roll No. …………….. 

DD-2023 (SE) 

B.Com. (Part II) Examination, 2020 

(Group- I : Compulsory) 

Paper First  

CORPORATE ACCOUNTING 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV% lHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA lHkh  

     iz”uksa ds vad leku gSA  

         Attempt all the five questions. One question from each unit is compulsory.  

         All questions carry equal marks. 
 

bdkbZ& I (Unit-I) 
 

1- va”kksa ds gj.k dk D;k vFkZ gS \ va”kksa dk gj.k dSls fd;k tkrk gS \ D;k gj.k fd, x, va”k 

iqu% fuxZfer fd, tk ldrs gSa \ va”kksa ds gj.k vkSj mlds iqu% fuxZeu gsrq tuZy izfof’V;k¡ 

nhft,A 
What is the meaning of forfeiture of shares ? How are shares forfeited ? Can forfeited 

shares be re-issued at discount ? Give entries for forfeiture and re-issue of shares. 
 

vFkok@Or 
 

,d daiuh fuEufyf[kr _.ki=ksa dks tkjh djrh gS%& 
(i) 100 : izR;sd okys 10]000] 12 %  _.ki= leewY; ij ysfdu 5 o’kksZ ds ckn 5 %   

izhfe;e ij Hkqxrku ;ksX;] 

(ii) 100 : izR;sd okys 10000] 10 %   _.ki= NwV ij ysfdu 5 o’kksZa ds ckn leewY; ij 

Hkqxrku ;ksX; 

(ii) 1000 : izR;sd okys 5000] 12 %  _.ki= 5 %  izhfe;e ij ysfdu 5 o’kksZa ds ckn 

leewY; ij Hkqxrku ;ksX; 

(ii) 100 : izR;sd okys 1000] 12 %  _.ki= 95000 : dh e”khujh ds vkiwfrZdRrkZ dks tkjh 

fd, x,A ;s _.ki= 5 o’kksZ ds ckn Hkqxrku ;ksX; gS] vkSj  

fuEufyf[kr ys[kksa ds fy, jkstukepk izfof’V;k¡ dhft,% 

¼v½ _.ki=ksa ds fuxZeu ij vkSj 

¼c½ nh xbZ vof/k ds ckn +_.ki=ksa ds iquHkqZxrku ijA 
A Company issues the following debentures:- 

(i) 10000, 12% debentures of Rs. 100 each at par but redeemable at premium of 5% 

after 5 years. 

(ii) 10000, 12%  debentures of Rs. 100 each at a discount of 10% but redeemable at par 

after 5 years 
(iii) 5000, 12%  debentures of Rs. 1000 each at a premium of 5% but redeemable at par 

after 5 years 
(iv) 1000, 12%  debentures of Rs. 100 each issued to a supplier of machinery costing 

Rs. 95000, the debentures are repayable after 5 years, and 
Pass the journal entries to record the 



(a) issue of debentures and 

(b) repayment of debentures after the given period. 

bdkbZ& II (Unit-II) 
 

2- daiuh vf/kfu;e 2013 ds vuqlkj dEiuh ds fpB~Bs dk izk:I nhft,A 
Give a specimen of company’s Balnce Sheet according to the Companies Act, 2013 
 

vFkok@Or 
 

 eerk dEiuh fyfeVsM ,sfPNd lekiu esa gSA bldh iw¡th fuEukuqlkj gS%& 

2000 iwokZf/kdkj va”k] : 100 okys ¼iw.kZ pqdrk½ 40000 lerk va”k : 10 okys iw.kZ pqdrk] 

5000 lerk va”k :- 10 okys ¼izfr va”k : 8 pqdrk fd, x,½] iw¡th Hkqxrku ds fy, iwokZf/kdkj 

va”kksa dks lerk va”kksa ij izkFkfedrk gSA vjf{kr ysunkj : 120000 rFkk lekiu dh ykxr 

ftlesa lekid dk ikfjJfed Hkh “kkfey gS : 10000 gSA mu laifRr;ksa ls tks dgh Hkh fxjoh 

ugh gS : 2]55000 izkIr gq, vkSj jf{kr ysunkjks ls : 50]000 vkf/kD; ds izkIr gq,A vkaf”kd 

pqdrk lerk va”kksa ij ;kpuk dh xbZA bu ij iwjh jkf”k izkIr gks xbZ ijUrq 1000 lerk va”kksa 

ij ;g ;kpuk dh jkf”k izkIr ugh gqbZA lekid dk vafre fooj.k [kkrk cukb,A 
Mamta Company Ltd is in voluntary liquidation the capital of the company consisited 

of 2000 preference shares of Rs. 100 each fully paid, 40000 Equity shares of  Rs. 10 

each fully paid and 5000 Equity shares of Rs. 10 each Rs. 8 per share paid up The 

preference shares have priority over equity shares to repayment of capital the unsecured 

creditors amounted to Rs. 120000 and expenses of liquidation, including the 

liquidator’s remuneration to Rs. 10000 The unencumbered  assets realised Rs. 2,55,000 

and Rs. 50000 are received as surplus on behalf of secured creditors A call on partly 

paid equity shares is made and realised with the exception of the amount due 1000 

shares which cannot be received. Prepare the liquidators final statement of account. 
 

bdkbZ& III (Unit-III) 
 

3- va”kksa ds ewY;kadu dh vko”;drk D;ksa iMrh gS\ va”kksa ds ewY;kadu dh fofHkUu fof/k;ksa dks 

le>kb;sA 
Why does the need of valuation of shares arise ? Explain the various methods of 

valuation of shares . 
 

vFkok@Or 
 

 ¼d½ fyfeVsM dk fuEukafdr fpB~Bk gS%&  

   fooj.k       jkf”k ¼:-½ 

1- lerk ,oa nkf;Ro       

va”k/kkjh dks’k 

va”k iw¡th       2]50]000 

 

pkyw nkf;Ro    

O;kikfjd ns;      30000 

cSad vf/kfod’kZ      20000 

        300000 

2- laifRr;k¡ 

xSj pkyw laifRr 

LFkk;h laifRr;k¡ 

ewrZ laifRr;k¡ 

Hkou 

QuhZpj 

 



Pkyw laifRr       60000 

O;kikfjd izkI;      40000 

jksdM+ ,oa jksdM+ lerqY;     300000 

  xr rhu o’kksZ ds ^c^ fyfeVsM ds ykHk Øe”k% fuEukafdr gS%& 

  50000 :] 60000 :] 70000 :-A 

   

  laifRr;ksa dk ewY;kadu fuEu izdkj fd;k x;k gS%&  

  Hkou  180000 :] QuhZpj 40000 :] nsunkj leewY;A 

Lk/kkj.k vk; dh nj %  izfro’kZ gSA withdj.k fof/k }kjk [;kfr dh jkf”k fudkfy,A 

cSad fofu;ksftr iwth dks gh vk/kkj ekfu,A 

  

 Following is the balance sheet of B ltd :- 

   Particulars      Amount (Rs.) 

1- Equity and liabilities     

shareholders Funds 

share capital      250000 

 

Current Liabilities  

Trade payables      30000 

Bank Overdraft      20000 

        300000 

2- Assets 

Non Current Assets   

Fixed Assets 

Tangible  

Building       150000 

Furniture       50000 

 

Current Assets  

Trade Receivables      60000 

Cash and cash Equivalents     40000 

        300000 

The Profit of ‘B’ Ltd for the last three years  respectively are: 

Rs. 50000, Rs. 60000, Rs. 70000. 

Assets are valued as under : 

Building Rs. 180000, Furniture Rs. 40000, Debtors at book value Normal 

rate of return is 15% p.a use only capital employed and find out goodwill 

by capitalisation method. 
 

bdkbZ& IV (Unit-IV) 
 

4- vkdk”k fyfeVsM dk fpB~Bk fuEufyf[kr gS%&  

   fooj.k       jkf”k ¼:-½ 

1- Lerk ,oa nkf;Ro   

va'k/kkjh dks’k 

va”kiw¡th 

20000 5% iwokZf/kdkj va”k] : 10 okys iw.kZ pqdrk   200000 

2000 lerk va”k] : 100 okys iw.kZ pqdrk   200000 

 

lap; ,oa vfrjsd%  

 lkekU; lap;      8000 

 ykHkgkfu fooj.k      2000 

 



pkyw nkf;Ro  

 O;kikfjd ns;      30000 

       ;ksx 440000 

2- laifRr;k¡  

xSj pkyw laifRr;k¡ 

fLFkj laifRr;k¡ 

ewrZ laifRr;k¡ 

Iyk.V ,oa e”khujh     190000  

vewrZ laifRr;k¡ 

[;kfr       50000 
 

      Pkkyw laifRr;k¡ 

   Lda/k        50000 

   O;kikfjd izkI;      60000 

   jksdM+ ,oa jksdM+ lerqY;    90000 

         ;ksx 440000 
 

vkUrfjd iqufuekZ.k gsrq fuEufyf[kr izLrkoks dks ikl fd;k x;k rFkk U;k;ky; }kjk 

;kstuk dk vuqeksnu dj fn;k x;k%& 
 

¼v-½ 10 : okys 5% iwokZf/kdkj va”kksa dks de djds izR;sd 6 : okys iw.kZnRr 6 %  

va”kksa esa dj fn;k tk,A 

¼c-½ 100 : okys lerk va”kksa dks ?kVkdj izR;sd va”k 50 : okys iw.kZnRr va”kksa esa 

cny fn;k tk,A 

¼l-½ ysunkj vius 4000 : ds nkos dk R;kx djsaA 

¼n-½ [;kfr o ykHk gkfu [kkrs ds “ks’k dks vifyf[kr dj fn;k tk, rFkk Iyk.V ,oa 

e”khujh dks 38000 : ls vifyf[kr fd;k tk,A jkstukeps rFkk iqufuekZ.k ;kstuk 

ds dk;kZfUor gksuss ds ckn fpB~Bk rS;kj dhft,A 
 

The following is the Balance Sheet of Aakash Ltd :-  

 Particulars      Amount (Rs) 

1- Equity and Liabilities  

Shareholdars Fund: 

Share Capital: 

 20000, 5% Preference Shares of Rs. 10 each 

     Fully Paid  200000 

 2000, equity Shares of Rs. 100 each, fully paid 200000 

Reserve and Surplus 

 General Reserve:     8000 

 Statement of P&L     2000 

Current Liabilities: 

 Trade Payables     30000 

       Total 440000 

2- Assets  

Non- Current Assets: 

Fixed Assets: 

Tangible Assets: 

Plant & Machinery      190000 

 

Intangible Assets: 

Goodwill      50000 
 

Current Assets: 

Stock       50000 

Trade Receivables     60000 



Cash and cash Equivalents    90000 

        440000 

The following resolutions for internal reconstruction were passed and the 

planning was duly approved by the court :- 

(a) 5% pref. shares of Rs. 10 each to be reduced to 6 % pref. shares of Rs. 

6 each fully paid up. 

(b) Equity Shares of Rs. 100each to be reduced to Rs. 50 each fully paid 

up. 

(c) Creditors to give up their claims for Rs. 4000 

(d) Goodwill and profit and loss account to be written off completely and 

plant and Machinery to be written aff by Rs. 38000. 

 

Give the necessary journal entries and Capital Reduction A/C and 

Prepare the Balance Sheet After the implementation of the 

reconstruction scheme. 

 

vFkok@Or 
 

dEifu;ksa ds ,dhdj.k ds mns~”;ksa dk o.kZu dhft,A ,dhdj.k ds fy, ys[kkadu ij tkjh 

AS- 14 ds eq[; fcUnqvksa dk o.kZu dhft,A 

Narrate the objects of amalgamation of companies Describe the main features of AS-

14 accounting for amalgamation. 
 

bdkbZ& V (Unit-V) 
 

4- vt; fyfeVsM us 1-1-2019 dks uohu fyfeVsM ds 4000 va”k Ø; fd,A muds 31-12-2019 

dks fpB~Bs fuEukuqlkj Fks%& 

fooj.k     vt; fy- uohu fy- 

1- lerk ,oa nkf;Ro     

va”k/kkjh dks’k% 

 va”k iw¡th% 

 10000 lerk va”k 10 : izR;sd  100000 

 5000 lerk va”k 10 : izR;sd    &  50000 

  

lap; ,oa vkf/kD;%  

 ykHk gkfu fooj.k& vkf/kD;   40000  10000 

 

pkyw nkf;Ro% 

 O;kikfjd ns;rk,¡   40000  20000  

      180000  80000 

2- laifRr;k¡% 

xSj pkyw laifRr;k¡ 

LFkk;h laifRr;k¡    100000  60000 

fofu;ksx% 4000 lerk va”k s fyfe- 

12-50 izfr     50000    & 

Pkkyw laifRr;k¡    30000  20000 

      180000  80000 

1-1-2019 dks uohu fyfe- ds ykHk gkfu fooj.k esa 15000 : dh gkfu fn[kkbZ xbZ 

ftls o’kZ 2019 esa vftZr ykHk ls lek;ksftr fd;k x;kA 

 31-12-2019 dks lekIr gksus okys o’kZ ds fy, lesfdr fpB~Bk cukb,A 

  



Ajay Ltd acquired 4000 shares of Naveen Ltd on 1.1.2019 Their Balance Sheets as at 

31.12.2019 was as under : 

Particulars     Ajay Ltd Naveen Ltd 

01. Equity and Liabilities : 

Shareholdars Fund: 

Share Capital: 

10000 equity shares of Rs. 10 each  100000                -  

5000 equity shares of Rs. 10 each    50000  

   

  Reseve  and Surplus: 

        Statement of P&L  Surplus  40000  10000  

  Current Liabilities: 

         Trade Payables    40000  20000  

         180000 80000 

02. Assets : 

Non-Current Asset: 

Fixed Assets: 

Investments: 4000 equity shares  

Of S Ltd Rs. 12.50 each   50000 

Current Assets     30000  20000 

      180000 80000 

 On 1.1.2019 the statement of profit and loss of Naveen Ltd Showed a loss of Rs. 15000, 

which was written off from earned profit of 2019 prepare a consolidated Balance sheet on 

31.12.2019 

vFkok@Or 

 
lw=/kkjh daiuh vkSj lgk;d daiuh dh ifjHkk’kk nhft,A lesfdr fpB~Bk D;k gS vkSj dSls cuk;k tkrk 

gS\ 

 

Define Holding Company and Subsidiary company. What is consolidated Balance sheet and 

low is it prepare? 
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DD-2025 (SE) 

B.Com. (Part II) Examination, 2020 

(Group- II : Compulsory) 

Paper First 

COST ACCOUNTING 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV% lHkh ik¡p iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA lHkh  

     iz”uksa ds vad leku gSA 

         Attempt all the five questions. One question from each unit is compulsory.  

         All questions carry equal marks. 

 

bdkbZ& I (Unit-I) 

 
1- Ykkxr ys[kkadu D;k gS \ blds {ks= o lhek,¡ crkb,A 

What is cost accounting ? what is its scope and limitations. 

 

vFkok@Or 

 
fuEufyf[kr ds ckn esa vkuk igys tkuk i)fr }kjk fuxZfer ,Dl lkexzh dk LVksj ystj 

[kkrk cukb;sA 

  izkfIr;k¡      fuxZeu 

fnukad  fd-xzk-  nj izfr fd-xzk-  fnukad  fd-xzk- 

tu- 1  200 fd-xzk- 5-00   tu- 6  150 fd-xzk- 

tu- 15  100 fd-xzk- 5-25   tu- 30  100 fd-xzk- 

Qc- 8  400 fd-xzk- 5-50   Qc- 10  200 fd-xzk- 

ekpZ 10  200 fd-xzk- 6-00   Qc- 28  100 fd-xzk- 

       ekpZ 30  250 fd-xzk- 

 15 tuojh dks Ø; dh x;h 5 fdyksxzke lkexzh nksliw.kZ Ikk;h x;h o 2 Qjojh dks 

foØsrk dks okil dj nh x;hA fuxZfer lkexzh ds de rkSuys ds dkj.k 31 ekpZ dks tkap 

djus ij 2 fdyksxzke lkexzh vf/kd ik;h x;hA 

 

Prepare a store ledger account of X Matrial issued on lifo method from the following. 

  Receipts     Issues 

Date  Kg.  Rate Per Kg.  Date  Kg. 

Jan 1  200kg  5.00   Jan 6  150kg 

Jan 15  100kg  5.25   Jan 30  100kg 

Feb 8  400kg  5.50   Feb 10  200kg 

March 10 200kg  6.00   Feb 28  100kg 

       March 30 250kg 



 5 kg Purchased on 15 Feb Were found to be defective and returned to vendors 

on 2nd feb 2kg were found to be surplus on checking on 31st march due to short 

weighting of matrial issued  

 

bdkbZ& II (Unit-II) 

 
2- fuEufyf[kr lwpukvksa ls ,d mRikn dh gSYls izhfe;e ,oa jksou izhfe;e ;kstuk ds vUrxZr 

dkj[kkuk ykxr dh x.kuk djsaA 

izekfir le;    8 ?k.Vs 

okLrfod le;    6 ?k.Vs 

izfrfnu ?k.Vk etnwjh nj  : 5@& 

mRikn dh lkexzh ykxr  : 50@& 

dkj[kkuk mifjO;; izR;{k etnwjh dk  200 % 

izhfe;e dh nj    50 % 

From the following information find out the works cost of a product under Halsey 

premium plan and Rowan premium plan . 

  Standard time    8 Hours 

  Actual time    6 Hours 

  Rate of wages per hour  Rs. 5/- 

  Cost of matrial of product  Rs. 50/- 

  Factory overheads of direct wages 200 % 

  Rate of premium   50 % 

 

vFkok@Or 

 
mifjO;; D;k gS \ budk oxhZdj.k dSls fd;k tkrk gS \ 

What are overheads ? Hw are they classified ? 

 

bdkbZ& III (Unit-III) 
 

3- ,d dEiuh nks izdkj ds isu ^ghjks^ vkSj ^jktk^ cukrh gSA 31 ekpZ 2015 dks lekIr gksus okys 

o’kZ ds fy, ykxr dk fooj.k fuEu FkkA 

izR;{k lkexzh    1]30]000 :- 

izR;{k Je    1]10]000 :- 

mRiknu mifjO;;   75]000 :- 

   

  fuEu vfrfjDr lwpuk,¡ miyC/k gS%& 

 (i)^jktk^ isu esa izR;{k lkexzh ^ghjkŝ  isu ds 40 % ds cjkcj Fkh 

 (ii)^ghjks^ isu esa izR;{k Je ykxr ^jktk^ isu ds nqxus ds cjkcj Fkh 

 (iii)izR;sd  isu esa mRiknu mifjO;; 5%3 ds vuqikr esa FkkA¼ghjks o jktk½ 

 (iv)iz”kklfud mifjO;; izR;sd izdkj ds isu ds fy, izR;{k Je ykxr dk 100 Fkk 

 (v)foØ; ,oa forj.k mifjO;; 1 :- izfr isu Fkk 

  o.kZ ds nkSjku isuksa dk mRiknu o foØ; fuEu FkkA 

   mRiknu   foØ;  nj ¼izfr isu½ 

 ghjks isu 20]000   18]000  22-00 :- 

 jktk isu 15]000   14]000  14-00 :- 

 

  izR;sd isu dk ykxr dk C;kSjk o ykHk izfr isu n”kkZrs gq, ykxr fooj.k cukb;sA 

A Company Manufactures two types of pen namely ‘Hero’ and ‘Raja’ following are 

the details of cost for the year ended on 31st march 2015. 

  Direct Material   Rs. 1,30,000 



  Direct Labour    Rs. 1,10,000 

  Production overheads   Rs. 75,000 

 

 Following are the additional information is given 

(i) the direct matrials in ‘Raja’ pen was 40 % of that in Hero pen. 

(ii) The Direct Labour cost in ‘Hero’ pen was twice as much as that in ‘Raja’ pen. 

(iii) Production overhead per pen was in the ratio of 5:3 (hero and raja) 

(iv) Administration overhead for each type of pen was 100 % of direct labour cost. 

(v) Selling and distribution overhead was Rs. 1 per pen. 

 

Following was the production and sale of pen during the year. 

    Production  Sale  Rate (per unit) 

 Hero pen   20,000   18,000  Rs. 22-00  

 Raja pen  15]000   14]000  Rs. 14-00 
 

 Prepare a statement showing the cost details and profit per pen of each type. 
 

vFkok@Or 
 

 31 ekpZ 2019 dks Vsdk ua- 375 ij gq, O;;ksa dk fuEu lkjka”k gSA 

 

 izR;{k etnwjh    :- 13]800 

 izR;{k lkexzh    :- 68]000 

 fuxZfer LVkslZ    :- 7]600 

 LVkslZ okilh    :- 1]100 

 mi Bsdk ykxr    :- 12]600 

 Iyk.V     :- 24]000 
 

 vki dks fuEu lwpuk,¡ iznRr gS%& 

 

(i)^Bsdk o.kZ 2018&19 esa 1]20]000 :- ewY; ij Bsdk izkjaHk fd;k x;kA 15 ekpZ 2019 dks  

   vkfdZVsDV us Bsds dk 4@5 Hkkx iw.kZ ekurs gq, LFkkfir fd;kA 

(ii)^15 ekpZ 2019 rd Iyk.V ij 9]600 :- dk âkl yxk;k x;kA 

(iii)^mijksDr fooj.kksa esa dk;Z izekf.kr gksus ds i'pkr~ ¼15 ekpZ 2019½ fuEu enksa ij gq, O;; 

lfEyfyr gSA 

(iv)etnwjh 1400 :- lkexzh miHkksx 3]240 :- 31 ekpZ 2019 dks dk;ZLFky ij lkexzh dh 

ykxr 10]000 :- o LVkslZ dh ykxr 800 :- gSA 

(v)LFkkiuk O;; izR;{k etnwjh dk 40 % gSA 

(vi) dk;Z ds nsjh ls iw.kZ gksus ij 5000 : dk tqekZuk yxk, tkus dh lEHkkouk gSA 

 

 vki (a) Bsdk [kkrk ua- 375 (b) izekf.kr dk;Z esa gq, ykHk ;k gkfu dks izR;{k :i ls 

n”kkZb;s o (c) 31 ekpZ 2019 dks lekIr gksus okys o.kZ ds fy, ykHk& gkfu [kkrs es ys tkus 

okys ykHk gkfu dks n”kkZb;sA  
 

The Following is a summary of the expen diture on contract No. 375 on 31st 

march 2019 

 

Direct Wages    Rs. 13800 

Direct Matrials   Rs. 68,000 

Stores issued    Rs. 7,600 

Stores retarned    Rs. 1,100 

Sub- Contract costs   Rs. 12,600 

Plant     Rs. 24,000 

You obtain the following information 

 



(i)     The contract was began in 2018-19 and its cost price was Rs. 1,20,000 the     

        Architectas had certified that 4/5 th of the contract had been completed on 15th     

         March 2019. 

(ii)    Depreciation of plant to 15th March 2019 is Rs. 9,600. 

(iii)    The summary set out above includes items relating to the period since certification  

          (15 March 2019) as follows wages Rs. 1400 and Matrials used Rs. 3,240. 

(iv)    Materials on site on 31st March 2019 had cost Rs. 10000 and stores on site had   

          cost  Rs. 800. 

            (v)     Establishment Charges are 40 % om direct wages . 

 

 

You are required (a) to prepare contract No. 375 Account (b) to show clearly 

and separately what profit or loss has arisen on the work certified and (c) to 

suggest what amount should be take the year ending 31st March 2019. 

 

bdkbZ& IV (Unit-IV) 
 

4- ,d dEiuh dk mRiknu rhu fofHkUu izfØ;kvksa ls fudydj iw.kZrk dks izkIr djrk gS os 

izfØ;k,¡ gS% ^v^ ^c^ rFkk ^l^A fiNys vuqHko ls ;g Kkr fd;k x;k gS fd izR;sd izfØ;k esa 

{k; fuEu izdkj gksrk gS%  

izfØ;k %^v^ 20 % % izfØ;k ^c^ 5 %  izfØ;k ^l^ 10 % 

 

 izR;sd n”kk esa {k; dh izfr”kr izfØ;k esa izos”k dj jgh bdkb;ksa dh la[;k Kkr dh 

tkrh gSA izR;sd izfØ;k dk {k; dqN vo”ks’k ewY; j[krk gSA izfØ;k ^v^ rFkk ^c^dk {k; 5 : izfr 

100 bdkbZ;ksa dh nj ls cspk tkrk gSA  

 izR;sd izfØ;k dk mRikn vxyh izfØ;k esa rqjUr Hkst fn;k tkrk gS rFkk fufeZr 

bdkbZ;ka ^l^ izfØ;k ls LVkWd esa Hksth tkrh gSaA 

 

fuEu lwpuk izkIr gS 

 

   izfØ;k ^v^  izfØ;k ^c^  izfØ;k ^l^ 

iz;qDr lkexzh  6]000   4]000   2]000 

izR;{k Je  8]000   6]000   3]000 

fuekZ.k O;;  1000   1000   1500 

 

 10]000 :- dh ykxr ls 20]000 bdkb;ka ^v^ esa fuxZfer dh x;kh gSA izR;sd izfØ;k 

dk mRiknu fuEu izdkj gSA 

 

 izfØ; ^v^ 19]500% izfØ;k ^c^ 18]800% 

 

 fdlh Hkh izfØ;k esa dksbZ fØ;ek.k dk;Z ugh gS izfØ;k [kkrk cukb;s rFkk x.kuk 

fudVre :i;s esa dhft,A 

 

The product of a company passes through three distinct process to completion they 

are known as ‘A’ ‘B’ and ‘C’ from past experience it is as curtained that wastage is 

incurred in each process as under: 

 

Process A 2 % :  Process B 5 % : Process ‘C’ in to Stock  

 

 

 



   Process ‘A’  Process ‘B’  Process ‘C’ 

         Rs.          Rs.         Rs. 

Matrial Consumed      6000       4000       2000 

Direct Labour      8,000       6000       3000 

Manufacturing 

Expenses       1000       1000       1500 

 

20,000 Units have been issued to process A at a cost of Rs. 10,000 The output 

of each process has been as under : 
 

Process ‘A’ 19500: Process ‘B’ 18,800 : Process ‘C’ 16,000 
 

There is no work-in-progress in any process 

Prepare process Accounts and the calculations rupee  
  

vFkok@Or 
 

ifjpkyu ykxr fof/k ls vk”k; Li’V dhft, \ ,d ;krk;kr ifjpkyu ykxr i= dkYifud 

vadks lfgr rS;kj dhft, rFkk blesa lfEefyr enksa dk le>kb;sA 

 

Explain the Meaning of operating costing ? prepare a transport operating cost sheet 

with imaginary figures and discuss the various items included in it.  

 

bdkbZ& V (Unit-V) 
 

5- ykxr ys[kkadu rFkk foRrh; ys[kkadu ds ifj.kkeksa ds vUrj ds dj.kksa dks Li’V dhft,A 

,d dkYifud lek/kku fooj.k i= rS;kj dhft,A 

State the reasons for disagreement between the costing and financial results prepare 

an imaginery Reconciliation Statement . 
 

vFkok@Or 
 

nh ekMZu dEiuh fyfeVsM us vkids lkeus fuEufyf[kr vk¡dM+s izLrqr fd;sA 

    foØ; ¼:-½  ykHk ¼:-½ 

 2015   2]50]000  25000 

 2016   2]00]000  10]000 
 

 vkidks Kkr djuk gS 

01- ykHk ek=k vuqikr 

02- lefpPNsn fcUnq ij fcØh 

03- fuEu fcØh ij ykHkA gkfu iwoZ lwfpr dhft, 

i 1,80,000 :- 

ii 4,00,000 :- 

The Modern Machine Co. Ltd. Places Before You The Following Figures. 
 

    Sales (in Rs.)  Profit (in Rs.)   

 2015   2]50]000  25000 

 2016   2]00]000  10]000 

You are required to: 

i Determine P/V Ratio 

ii Determine sales at Break-even Point 

iii Predect the expected profit or loss with Sales of : 

i 1,80,000 :- 

ii 4,00,000 :- 

   P.T.O 
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BD–2011 

B. Com. (Part I/II/III) EXAMINATION, 2018 

ENVIRONMENTAL STUDIES AND HUMAN RIGHTS 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh iz’u vfuok;Z gSaA iz’u Øekad 1 ij 25 vad o ‘ks”k 

izR;sd ij 10 vad gSaA 

 All questions are compulsory. Question No. 1 carries 

25 marks and rest of the questions carry 10 marks 

each. 

1- fuEufyf[kr esa ls fdUgha ik¡p ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) Xykscy okfe±x 

(ii) ukfHkdh; nq?kZVuk,¡ 

(iii) e`nk vijnu 

(iv) jsM MkVk cqd 

(v) izkFkfed miHkksDrk 

(vi) o”kkZ ty laxzg.k 

(vii) pØokr 

Write short notes on any five of the following : 

(i) Global warming 

(ii) Nuclear accidents 
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(iii) Soil erosion 

(iv) Red data book 

(v) Primary consumer 

(vi) Rain water harvesting 

(vii) Cyclone 

bdkbZ&1 

(UNIT—1) 

2- [kfut lalk/kuksa ds mi;ksx ,oa vR;f/kd mR[kuu ij ,d 

fVIi.kh fyf[k,A 

Write a note on the use and exploitation of Mineral 

Resources. 

vFkok 

(Or) 

e`nk laj{k.k dh fof/k;k¡ le>kb;sA 

Describe the methods of Soil Conservation. 

bdkbZ&2 

(UNIT—2) 

3- tSofofo/krk ds laj{k.k esa jk”Vªh; m|ku ,oa vH;kj.;ksa ds egRo 

dks fyf[k,A 

Write importance of National Park and Sanctuaries in the 

Conservation of Biodiversity. 

vFkok 

(Or) 

ikfjfLFkfrd rU= esa ÅtkZ izokg dh fØ;k ,oa fu;eksa dk o.kZu 

dhft,A 

Describe the process and laws of energy flow in 

Ecosystem. 
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bdkbZ&3 

(UNIT—3) 

4- e`nk iznw”k.k ds dkj.k ,oa izHkko ij ,d fVIi.kh fyf[k,A 

Write a note on the causes and effects of soil  

pollution. 

vFkok 

(Or) 

i;kZoj.k laj{k.k vf/kfu;e dh izeq[k fo’ks”krkvksa dk o.kZu 

dhft,A 

Explain the main characteristics of the Environmental 

Protection Act. 

bdkbZ&4 

(UNIT—4) 

5- ekuo vf/kdkjksa dh lkoZHkkSfed ?kks”k.kk] 1948 ds vUrxZr ekuo 

vf/kdkjksa ds laj{k.k dh foospuk dhft,A 

Discuss the protection of Human Rights under the 

Universal Declaration of Human Rights, 1948. 

vFkok 

(Or) 

ekuo vf/kdkjksa ls vki D;k le>rs gSa \ ekuo vf/kdkjksa dh 

izd`fr dh foospuk dhft,A 

What do you understand by Human Rights ? Discuss the 

nature of Human Rights. 
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bdkbZ&5 

(UNIT—5) 

6- Hkkjrh; lafo/kku esa of.kZr jkT; ds uhfr funsZ’kd rRoksa dh 

foospuk dhft,A 

Discuss Directive Principles of State Policy under the 

Indian Constitution.  

vFkok 

(Or) 

Hkkjr ds jk”Vªh; ekuo vf/kdkj vk;ksx ij ,d fucU/k fyf[k,A 

Write an essay on National Human Rights Commission in 

India. 
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Roll No. ……………………….. 

 

DD-2028 (SE) 

B.Com (Part-II), EXAMINATION, 2020 
(Group-III Compulsory) 

Paper Second 

FUNDAMENTALS OF ENTREPRENENRSHIP 

Time : Three Hours 

Maximum Marks : 75 

 

uksV% lHkh ikWp iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSaA lHkh  iz”uksa ds vad 

leku gSa A 
          Attempt all the five questions. One question from each Unit is compulsory. All question carry 

equal marks. 
 

bdkbZ –I 

Unit –I 

iz”u 1-  “m/kferk Ik;kZoj.k vfHkeq[kh fØ;k gSaA” le>kb, rFkk crykb, fd vkfFkZd Ik;kZoj.k fdl izdkj 

  m/kferk ds fodkl esa lgk;d gSaA 

 

“ Entrepreneurship is an environment oriented activity ” Explain and state that how does  

  economic environment assist in development of entrepreneurship. 

Or 

vFkok 

“m/kferk tksf[ke mBkus rFkk uokpkj ;ksX;rk ds lkFk&lkFk O;wgjpukRed ykHk izkIr djus dh 

 ;ksX;rk gSa ” bl dFku dks Li’V dhft,A 

 

            “Entrepreneurship is a risk bearing innovate ability as well as strategic advantage ability”   

              Explain this statement. 

bdkbZ –II 

Unit- II 

iz”u 2- ,d uohu bdkbZ dh LFkkiuk ds fy, oSKkfud vko”;drk,¡ D;k gSa \ D;k os i;kZIr gSa \ foospuk  

dhft,A 

What are the legal requirements to establish a new enterprise? Are they enough? Explain. 

Or 

vFkok 

     dks’kksa dks tqVkus ls D;k vk”k; gSa\ dks’kksa dh vko”;drk dk vuqeku yxkus dh vko”;drk D;ksa gSa\ 

            What is meant by raising of funds? Why there is need for estimating funds requirements? 
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bdkbZ –III 

Unit- III 

 iz”u 3- m/kferk O;ogkj dh O;k[;k dhft,A m/kferk O;fDrRo dks izHkkfor djus okys euksoSKkfud y{k.kksa 

 dh O;k[;k dhft,A  

 

        Describe Entrepreneurship Behaviour. Explain the psychological factors to effect the 

   entrepreneurship personality.  

Or 

vFkok 

“O;olk; esa O;fDrxr ykHk ds vfrfjDr ,d O;olk;h ds dqN lkekftd mRrjnk;h Hkh gksrs gSa \ ”  

  os dkSu ls gS \ le>kb, A 

 

“In addition to personal benefit in a business a businessman has certain social  

  responsibilities.” What are they ? Explain . 

 

bdkbZ –IV 

Unit –IV 

iz”u 4- m/kferk fodkl dk;ZØe dh ifjHkk’kk nhft, vkSj bldh Hkwfedk dh foospuk dhft, A 

Define Entrepreneurship development programme and discuss its role. 

Or 

vFkok 

 Hkkjr esa m/kferk fodkl dk la{ksi esa o.kZu dhft, A Hkkjr esa bldh /kheh izxfr ds izeq[k dkj.k 

crkb,A 

 

Describe in brief the entrepreneurial development in India. State main causes of its slow 

 progress in India. 

bdkbZ –V 

Unit- V 

iz”u 5-  m/keh dk vFkZ Li’V dhft,A jkstxkj ds voljksa dk l`tu djus esa m/keh ds ;ksxnku dk 

 ewY;kadu dhft,A 

 

  Explain the meaning of entrepreneur. Evaluate the role of the entrepreneur in generating 

  employment opportunities. 

Or 

vFkok 

 fons”kh eqnzk vtZu ij fVIi.kh fyf[k, A 

  Write a note on forex earning. 
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Roll No. ……………………….. 

 

DD-2026 (SE) 

B.Com (Part-II), EXAMINATION, 2020 
(Group-II Compulsory) 

Paper Second 

PRINCIPLES OF BUSINESS MANAGEMENT 

Time : Three Hours 

Maximum Marks : 75 

 

uksV% lHkh ikWp iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSaA lHkh  iz”uksa ds vad 

leku gSa A 
          Attempt all the five questions. One question from each Unit is compulsory. All question 

carry equal marks. 
 

bdkbZ –I 

Unit –I 

1- “ izca/k loZO;kih gSa A” bl dFku ds lanHkZ es izca/k ds {ks= ,oa izd`fr dk fu:i.k dhft,A 

“Management is universal” Discuss the scope and nature of management in the control of 

   this statement. 

Or 

vFkok 

oSKkfud izca/k D;k gSa \ ;g iajijkxr izca/k ls fdl izdkj fHkUu gSa \ 

What is Scientific Management? How does it differ from traditional management? 

bdkbZ –II 

Unit- II 

 2- lekesfyr fu;kstu izfØ;k dk vFkZ crkb, \ bldh eq[; fo”ks’krk,¡ D;k gSa \ D;k Hkkjr esa 

lekesfyr fu;kstu lQy jgk gSa \ 

Explain the meaning of corporate planning? What are its main characteristics? Is corporate 

planning successful in India . 

Or 

vFkok 

     fu.kZ; ysuk fdls dgrs gSa\ fu.kZ; ysus dh izd`fr ,oa fl}karksa dks le>kb;sA 

            What is meant by decision making? Explain the nature and principals of decision making. 
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bdkbZ –III 

Unit- III 

        3- laxBu dh ifjHkk’kk nhft,A blds mn~ns”;ksa ,oa egRo dk o.kZu dhft,A 

        Define Organisation. Describe its objects and importance. 

Or 

vFkok 

    vf/kdkj lRRkk ds dsUnzh;dj.k ,oa fodsUnh;dj.k ls  D;k vk”k; gSa\ dsUnzh;dj.k ,oa  

   fodsUnh;dj.k esa varj crkb;sA 

 

   What do you mean by Centralisation and Decentralisation of Authority? Differentiate 

    between Centralisation and Decentralisation. 

 

bdkbZ –IV 

Unit –IV 

     4- vfHkizsj.kk D;k gSa \ vfHkizsj.k ds „,Dl‟ rFkk „okbZ‟ ds fl}kar dks le>kb;sA 

 What is Motivation? Explain „x‟ and „y‟ theory of motivation. 

Or 

vFkok 

   usr`Ro ls vki D;k le>rs gSa \ usr`Ro ds fofHkUu Lo:iksa ;k “kSfy;ksa dk o.kZu dhft,A 

  What do you understand by leadership? Describe the various styles of leadership. 

bdkbZ –V 

Unit- V 

     5-  fu;=a.k vo/kkj.kk D;k gSa \ bldh izd`fr ,oa fo”ks’krkvksa dh foospuk dhft,A 

   What is Control Concept? Explain the nature and characteristics of control. 

Or 

vFkok 

  ifjorZu ds izca/k ls vki D;k le>rs gSa \ ifjorZu izca/k dks dkSu&dkSu lh “kfDr;k¡ izHkkfor  

  djrh gSa \ 

 

    What do you understand by management of change? What are the forces that affected the 

     management of change? 

 

 

------------------- 

 


